Inorganic Chemistry 1
QUANTUM THEORY

QUANTUM NUMBERS
Problem-Solved Example 25

How many atomic orbitals in d-sublevel and f-sublevel?

Solution

For d-subleved : £=2
So Fhe number o-/ a,é»,/c ovbifals = QL+
= 2(2) +/
=5

7%0—:.. are 5 l/aﬂe: o/ ”7/(' (ﬂ/'enfqﬁ'dm=5)

le. m, = *2,+/, 0~/ =2

4

v ad 4
d-oréstfals are 4{7 ’ dyz , /xz //2 - x 7"

For £ scblevet : A=3

- Z:fo/ hﬂmélfo/ qum/'c Wé,'/ql; = 24 +/
= 2 3)"‘/

=7
o There are 7 l/q/«.r o/' 03( ( 7 w;‘cnfa}f:ms)

le. nz(-.: +3, 42 #/ 0 -/ -2 -3

Prepared by
V. W anobroran
vmano@usm.my

manovv1955@yahoo.com
04-6533888 ext 3566

School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1


mailto:vmano@usm.my
mailto:manovv1955@yahoo.com

